Employee CTC – 5 lakhs p.a.

	Sl. No.
	Item
	@ 40% basic (Rs)
	@ 50% basic (Rs)

	A
	Basic
	200000
	2500000

	B
	Company Contribution to PF (12% basic)
	24000
	30000

	C
	CTC – B
	476000
	470000

	D
	C – Employee contribution to PF 
	452000
	440000

	E
	Gross salary (excluding taxes, et al. for simplicity)
	37667
	36667


Assuming all other parameters remain the same (like investment, rent, home loan, etc), tax deduction in both cases will remain the same in both cases. So, effectively, the employee would earn Rs. 1000 extra as the monthly take home salary which is taxable, if he/she opted for 40% basic. 

Based on the income tax bracket, the employee falls under; he/she effectively takes home

	Income tax bracket
	Tax paid on Rs. 1000
	Effective additional take home salary (if 40% basic was selected)

	10%
	100
	900

	20%
	200
	800

	30%
	300
	700


If the employee had selected 50% basic, he/she would earn Rs. 500 more (as part of company contribution to EPF) and save a total of Rs. 1000 which would be tax free and grow at 8.5% compounded annually (current interest rate on EPF).

